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QUESTION 1

Which DB2 object is used to provide a logical grouping of other database objects? 

A. Alias 

B. Index 

C. Schema 

D. Collection 

Correct Answer: C 

 

QUESTION 2

Which DB2 product is NOT suitable for very large data warehouse applications? 

A. DB2 for i 

B. DB2 for AIX 

C. DB2 for z/OS 

D. DB2 for Linux 

Correct Answer: A 

 

QUESTION 3

If no isolation level is specified, what is the default isolation level used? 

A. Cursor Stability (CS) 

B. Repeatable Read (RR) 

C. Read Stability (RS) with Currently Committed semantics 

D. Cursor Stability (CS) with Currently Committed semantics 

Correct Answer: A 

 

QUESTION 4

Given the following DDL statement: CREATE TABLE sales (item CHAR(20)); If a DBA wishes to increase the size of the
ITEM column, which SQL statement needs to be used? 

A. ALTER TABLE sales ADD COLUMN item CHAR(40); 
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B. ALTER TABLE sales ALTER COLUMN item CHAR(40); 

C. ALTER TABLE sales MODIFY COLUMN item CHAR(40); 

D. ALTER TABLE sales ALTER COLUMN item SET DATA TYPE CHAR(40); 

Correct Answer: D 

 

QUESTION 5

Which two activities indicate the need for a data warehouse? (Choose two.) 

A. Confirm product inventory. 

B. Monitor product availability. 

C. Summarize sales by region. 

D. Identify patterns for products sold in the last five years. 

E. Associate one or more products with a purchase order. 

Correct Answer: CD 
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